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)  Show thatif fand g are arbitrary functions of a

single variable, then

U = f(\ — vl + iay) + g(x-~ vl — iay)

. \ & l
is a solution of the equation u, +u, '—*-C-z-u,,

v2

where a’ =1-—-.

c

m) What is meant by ofthogonal trajectories on a

surface?

n) Find the differentiallequation of all spheres of

radius 7 having centre in the xy plane.

0) Define Cauchy problem for second order

partial differential equation with example.
Answer any four questions: 5x4=20

a) Obtain the integra_l surface of the equation
(x—y)y2p+(y—x)x2q = (x2 +y2)z
through the curve xz=a’, y =0. |

b)  Apply Charpit’s method to find the complete
_integral of z* = pgxy. |
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Sol ———2-—— U, Ulx 0)=6e* b
m/ ove 9225 (% 0)=6e™ by

method of separation of variables.
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